Adda

e

DSSSB
PRT

Previous Year Paper
13th Nov 2019 Shift 3

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR4l7|

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— e —
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000 + Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW



https://applink.adda247.com/d/5zsmwiLHz7

Adda247

GOVT. OF NCT OF DELHI
Delhi Subordinate Services Selection Board
‘ FC-18, Institutional Area, Karkardooma, Delhi — 110092.
il mwe Y e 0 www.dsssb.delhigovt.nic.in

Test Center Name iON Digital Zone iDZ 2 GT Karnal Road

Test Date 13/11/2019
Test Time 4:30 PM - 6:30 PM
Subject ASSISTANT TEACHER PRIMARY

Q.1 U 3gehH far man &, e @ uah ug erd 81 Ry 71 et 7 @ 39 wera ug & gfAw

GRA, MZQ, SHI, YPZ, EXQ
Ans X" 1 GRA

75 2.vpz
W 3.MzQ
75 4. EXQ

[ Question ID : 71939923250

Q.2 Uk fafdre shts vmar &, ‘PONTS'’ <Rt ‘1615142019’ foraT SiTaT &, ‘GATER’ <R ‘7120518’ forar
SITdT &1 59 <hlS MTST & ‘TABLE’ T <Rl <RIT 87

Ans &X' 12021215
of 2.2012125
X 3.2120125

X 4.2012145

Question ID : 71939923254

Q.3 fFafafaea usr & & 7w sjwen d @ g i a1a FifAQ)

47, 49,101, 307, 1233, ?
Ans X1 67161

X 2.6165
X 3.6185
W 46171

[ Question ID : 71939923261

Q.4 A Ry g usi & o HUF HR I T8 I YT W sneiRa F e g g &1 Ry 1w
HYH! S T AR, AR ITH T T a2l @ fR=ar gt gt Arend o ik fir RaffRa w2 f
g g e | Freend, R{w TQ YT & STUR U gfvheTa 1

DY

|.q.—e§J,K§|
I.AEK ATE 21
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fArsent:
LA JTE I
Il. s A, Kg &1

Ans X 1. T R | o |1 SIER0T ed
X 2. ere e | SERoT Rl
o 3. et e 11 SR et &
75 4.1 oft e srgeror e ahwar @

[ Question ID : 71939923258

Q.5 af} gk ot &t AB a1 UR @1 1, |t &) 78 IR siepfaal # @ @i siepfar wer sepfar fY
T ufafsa ghfi?

@|0
O|e
R grrrrrr777T >

ns X‘I. @—gy
o 1 (]

x: PRy
N

x PRy

N2
7
Q

N

[ Question ID : 71939923268

Q.6 ISTd YR TR | TAT RN AT § AT TS & e Tt §1 98 SRA 3R GSaT & a7 Ferelt 31
I8 U: IRAY SfiR gaT & 9T 91T 81 98 Sidd: SRil 3R qSaT & TUT Tl g1 3aa: ag uffw A
3R 3T @1 &1 39+ = H fohw e & Ter=r s fovam um?

Ans X" 1 zfaror
W 2.5
X 3.
X 4. ufgm

Question ID : 71939923265

Q.7 J,L,M, N, RaYUT T & 3ichl Y ger=1 &l 71 g1 R & 31fdren sieh aret aafwral &Y war, M & &a
3feh Tt eafRal Y deaT & sRIeR 81 T a1 L 41 & 3ich R @ &F g M & 31fdrer @1 Faet J &
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3ieh R @ 31fder &1 afE T & 3ich L @ 31fder & AUT L & 3ick 112 &, aY shH2r: R dUT N & 3ich & gt
Tahd &7

Ans  of 1 113,111
X 2.114,113
75 3.108,111
X 4.110,113

[ Question ID : 71939923255

Q.8 fagR, fiig T & 10 fos.#f. af@or fY iz g1 g R, fig W & 13 .+t ufgm fr sk g1 g W, fig S
¥ 16 fh.#t. IR Fr 3R g1 folg G, fig S | 25 foh.#. ufgyw Y sk &1 afy Rig M, Rig R | 21
fon.ft. uffm Y oiik &, &t g G, fig M A frait gt = @ @ g W, foig M @ forer Ram d 82

Ans  off 1 13 53, TR Od
X 2,13 R, af@or ufgm
X 3. 18 A, afdor g
X 419 e, SR od

Question ID : 71939923264

Q.9 ©g @sfRai G1, G2, G3, G4, G5 TAT G6 dhws: I 37 T Tk e JHThIR AT & §& g a8t g
2161, G3 & faudia 3dr gd 81 62, G3 & i anft ik 81 G5, G6 & RAufa A g€ 8164, G5
T ardi 31 81 G5 & T ardi ok 1 a1 gonm 8?7

Ans X' 1.G1
v 263
X 3.62
X 4.64

[ Question ID : 71939923256

Q.10 FrfafEa us & Ry 7y el # @ wefda siar g &1 gl
GRO:LKX::?
Ans X" 1 APM:FWV
W 2. KLB: PEK
/X 3.RHT:WAB

75 4.HGO : MYX

[ Question ID : 71939923253

Q.11 A By, omaa aur of &A1 g2
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Ans «1.9
725 2.10
75 3.13
F R

[ Question ID : 71939923263

Q.12 af¥‘A+B &1 31 ‘B, A fare’, ‘A - B' &1 31f ‘B, AT g &', ‘A + B’ &1 31f ‘B, A ueN1 &,
‘AxB &1 f ‘B, Aframar g, i @i e T FUT P+ Q+R-Sx T - G dhdedf &
g g?

1.Q, GRTEA I
II. B, T &1 &11< 81
1. S, P <t ueft &t wig &1
Ans X1 ||l €T
X 2. &l
o 3.1, 11 Eeh
X 4 FE

[ Question ID : 71939923257

Q.13 oI i IR STepfa ust stepfar & ufaey &l gR1 h¥fi?

Ans l
r DV
N
v 2
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Question ID : 71939923267

Ans

HY:
1. &S &1, ot T 21

II. 3o aif, smaa &1

. T armera, Brager ad 21

fArsent:

1. g Paget, «rer €1

II. F® Ay, smaa &l &1
111. S 3T, ST 81 &1

75 1. St s | e 11 SrgeRor e &
W 2. Faet R 11 SR a=aT &
7< 3. dharer Frsem |11 S1RoT el @

X 4. mft e srgERor ava &

Q.14 2 fg 7q ust # o Hu= 3R IS a1E I FYAT WR TR Fo fFArend g 1o &)1 Ry o
HYA] R TE 7F, T ITH T A a4l A fA=ar g ft e o ofiz Rk fRufRa = i
g g == & fAswd, g g @uel & sy wR gfteea &1

Question ID : 71939923259

Ans

TR :4::?

X 13

W 2.2
X 3.gwr:5
X 4.2t

Q.15 F=fafEa usr # g 7o faseal # @ H@s6fla 21sg g ot gfAg)

Question ID : 71939923251

Ans

Q.16 f=faf@a usr 8, § o sigen d @ 7w enpfa ot gfgl

AMWIIWAM|IIMWA|IAMW||WAM
o NellioNon INI NoNolnoN NelRioNoN
o & T 3Bllb6 7Sl 2 7 5 6
AMW
vijoO®eoO
3 o
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[ Question ID : 71939923266

Q.17 F=fafEa usr | Ry g et § @ H@&fa = &t gfAgl
36:19::64:7?
Ans X 1.30
75 2.49
W 3.25
75 4.26

[ Question ID : 71939923260

Q.18 Ue 3rgerd Rar man 2, forad @ ua ue e 21 Ry 1y Rieredt & @ ag v Reveu gfg, st
31IshH Y GRT 3|

JRM, LPN, 2, PLP, RJQ
Ans  of 1 NNO

X 2.MPO
X 3.NMO
X 4.MNO

Question ID : 71939923249

Q.19 gg @ gAY Wit A Ry g auif & i & e o g Ao aar @i

goy, foar, g

X1 @
x:[(©)o

Ans
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x+{(©)

[ Question ID : 71939923262

Q.20 fA=fafEa us # Ry 1y Rereal § @ Sefda ezt &t gl
weffeR : AT s uef: 2
Ans X' 1 dew
X2

W 3. Rfem
75 4. digen

[ Question ID : 71939923252

Section : General Awareness

Q.1 frg Trea/dwar A "<y Ao fegm daatarsh e sffdgla (ga.wm.end.d.ga.end.)"
& dgd ugen @it 3= arauE S A« Rien fanfa frar &2

Ans 3" 1.DRDO

X 2.1ISC e

75 3.IsRO
o 4.CsRR

[ Question ID : 71939923282

Q.2 #Fa # gf® a9 & day & F=faf@a & 9 &9 a1 wua a8 87

1. Eref-gf¥ Srogeh 1S afth e Tt axgail @t oY wWe 3@ Gehar &, TR ¥ 7t asgail =t ag
geE T8 3@ umEnl

1. Frera-gf® oy i arfth R Y aegeil o at e @ TahdT &, IR e T axgeil &t
e T8 3@ Ul

Ans  of 1 AT
X 2. e |
p AT
p R

Question ID : 71939923275

Q.3 22 7 2iud iR fhew Agtiewa & fohe fhedt 7 ‘IpE shetTedsh Iuafed’ & fAg qrer Sfiar &2
Ans X 1 Zfaee
W 2 s wa

X 3
X 4. s B

Question ID : 71939923284
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Q.4

Ans

el & forg gagEdt o1 Rrufzor wd g Fafeafl@a § @ w9 9 wRe oY @re ok =
g (&, . . t.) ZRT A Siar @2

1. R 3R sierfdia TRl A gea ugfi

I, SeR-H Jed THaATI

1. HfY 3R TR-Ff &= & = R &t 2
IV. g it frma

r SERRINY
X 2.0,
W 30y
p SRR

[ Question ID : 71939923272

Q.5
Ans

73 2 d@faum= Heiteq s & aga A=faf@a 4 @ el a1 urau= siffart a8 &2
2K 1. gt 1ot SRt H AT e & ford e Fiafe s foh o

25 2. darad o R R &Y weften & & ol wdes ute a ae ge <row farer s &bt waae
&1 St afed

X 3. mrenfiies iR et &R & vl & ot aricaer g
W 4. dert ) R aiftaR 3

Question ID : 71939923285

Q.6
Ans

fora 321 ¥ 2019 Fi afgen gwendea Hi¥st wigae gidht gafde sfiar 8?2
X 1. ez

W 2 ow=a

X 3. afmm
X 4. sirRfr

Question ID : 71939923287

Q.7

Ans

FI Ht FifAenT 3R A aga AfhATE! TSR GSIEH gid @ it @+t e gt i dea d
Ham g §?

X1 wfRs

o 2. et
X 3. Tifesht JuaRRor
X 4. zgenaat

[ Question ID : 71939923274

Q.8
Ans

HERTE-TET 3¢ & wig 3a%h ol (Aata WRa Fefafada 7 9 fore dezme 9 forar simar &2
X 1. TR dexg
X 2. el sezTE
X 3. R semg
(4.nmﬁﬁaﬂa'wm

Question ID : 71939923276
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Q.9 aTurNg fhy W e & aRard wfa &2
Ans X' 1 wghfR

25 2. s

W 3 s

25 4. i

Question ID : 71939923280

Q.10 TR &1 14 7 Toteni A erReftens (RBI) gRT ! ST o SiTar 21
. hadl I TIFR

1. Fhaet WRd RIS
Ans O 1| Gl @t

W 2 ¥
X sa@iaan
X 4 Faw

Question ID : 71939923271

Q.11 shiCfAaT fis ARSI gr 2019 ZRT Sfiam mam
Ans X' 1 AfRmw aRmana

W 2.t ae

X 3. ERig TR

75 4. Rse srie

Question ID : 71939923288

Q.12 FfafEa # @ -t 7& wra | offw &t oz ag= areft 78 872
Ans  of 1 fER

/X 2. a7

X 3. difaER 7

25 4 o

[ Question ID : 71939923277

Q.13 i areafer e, s, sy o e PR 8 & R sredta aw @ o2 8
Ans  of | s

25 2. o e

7< 3. wfogR

75 4. iR

[ Question ID : 71939923269 ]

Q.14 A JHTS Y TATIAT Agddh
Ans X1 &t

X 2. s
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25 3. et

W 4w

[ Question ID : 71939923279

Q.15 fay & sfag™ # gg Sfia+t & e s st areT g T Hi 82
Ans X' 1. &y gedH

X 2. sk

X 3. s

o 4 it

Question ID : 71939923281

Q.16 Rl d@fem H wi o s Toat aur dhenfie v & forg woa awr d Hiel & sdeT @

Ans  off 1 ioft srgeet
X 2. e argeeh
X 3.8 gt
K 4. 7 argeh

[ Question ID : 71939923286

Q.17 ‘X’ Uk UehR Y A & ot auf A ugeht Sior & uyrq a1 gd-arge afd & eRE, 79 8@ 91 w®
RafafY g STt @ 9UT 39 TR STH AT d4 Ik SIS gl ST @ Sid deh 38 Siee! @ Siar T¢t
ST

X' &l g
Ans X1 g
7% 2. dege g
25 3. ofret e dieht A
o 4 Fh g

[ Question ID : 71939923278

Q.18 F=fafEa & 9 wiw a1 ansfta e &1 g”tan I A forar s 82
Ans X1 G

X 2. wfear T

X 3. sifeh

f 4 wforgd

[ Question ID : 71939923270

Q.19 WRd # IS 323 o R @ Tfia &t & g 39 alvrer @t AT 3 g i &t
TR ZRT AR 2 &'aifE g ARe glidiatel & awfRa g o, uget WReg A% wiF sm?

Ans X 1 o SRR
X 2. <frar Agar
X 3. foreprg =
o 4. e et
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Question ID : 71939923283

Q.20 TGURHATU[ URHATO[haT ateiT e ______ &1
Ans  of 1 wremRE

25 2. g

X 3. Afoem

p RS

Question ID : 71939923273

Section : Arithmetic Ability

Q.1 20% ufaad fit e & 1.5 adf & sid & gah A R vree v o Fe Tehgfeg; sart (srefarftfe
TS WR) 1655 Tud &1 AfA w82

Ans " 14800
o 2. 5000
/X 3.5500
X 4.4500

[ Question ID : 71939923300

- L g B=— 1 @ A+ B & #5T &= &7

Ans  of 1 7/6
X 2.7/3
X 3.13/12
X 4.8/5

[ Question ID : 71939923289

Q.3 U o9 M ol 32 Hier 77t Tah S 3fTehR R & ufRafeda farar war @1 M« &1 aars 36+ SR
AR & =T T 20 AT 81 Met Y B a2

Ans  of 1 6
75 2. 6 Hichrfiez
X 3. 12 diefiefiex
X 4 6

[ Question ID : 71939923305

Q.4 1A Rz mar qus R gware & fafera AT wR ger deum & srqufera gg o1l 6 dean @t garfar
H
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]

60
50
40
30 1 24

ig: 10 H
ﬂ I_‘l T

DI D2 D3 D4 D5 Db

e

36 18 40

fagnfert 1w

wfaiRe s & ot gu oT & it T 7 87
Ans X' 125
X 2.29
W 333
X421

[ Question ID : 71939923308

Q.5 a%g A &1 fasha e 59 3T g0 & 25% e g1 axg B AT fsra ra ag A & Rsra g @
60% 31k § TUT a%g B 1 §9 Io7 IR d9 U= g§ 811 33.33% 81 9% B FI5F0 Go, T A F
ha Gea | fhaem ufaeea sifdes/aa 82

Ans & 1.300%, HH
W 2.200%, sifte
X 3.300%, 3ifieh
X 4.200%, &

Question ID : 71939923297

Q.6 THh AR | 5 TU, 10 TUL dAT 2 FUL & Ak ar1eR G & Iufeyd &1 af ger afN 646 Tud @,
A Tk UehR & foha=t e &7

Ans X136
X 2.40
W 338
X 4.30

[ Question ID : 71939923298

Q.7 P, Qa1 R 3rdhet ek st aht 20 T, 40 1 aum 120 7 & o1 o= wavet €1 P, Q @1 R et
A FRf &t fohaa R d qr1 e wenat 82

Ans X1 gfem
X 2.10RA

W 3. 12RF
25 4158

[ Question ID : 71939923303 ]
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Q.8 295 ¥ 500 deh Tt fhat Ty § =it 3 aur 5 g1 @ R 82
Ans X' 1.8

W 214

X 3.22

X 417

Question ID : 71939923291

Q.9 af ¥ 3 fh.#t./der Y nfey @ Feren @ 4t oA fRrenerd 6 e 3 @ ugmar @, WgaRk ag 4
fos.ft./dder Fr nfe @ = & @t o RufRa a97a @ 4 e e ugw srar &1 39 = & 3ad
fremera $r g foRa= &2

Ans X 14 fen .
X 2.5 6.
W 3.2
X 4.3 ReA.

[ Question ID : 71939923301

Q.10 FA-T A Teh Uil # 762.6 3ich utee fohdt | af 36 sich sifdere™ sieht & 82% &, Y s1fdaraw
3ich T &?

Ans  of 1 930
/< 2.910
X 3.870
X 4.1030

Question ID : 71939923295

Q.11 & T=arail a1 alv 60 & AT ITehT TUHH 15 §1 39 & TEarail & Seehd 1 T a1 87

Ans  of 14
K22
X 35
543

[ Question ID : 71939923293

Q.12 ga et o oo 2 @341, 3 A.oft. qaur 4 A+t @ ST S g aHaTg e & dewa
& aRTeR @ foehY ager x 81 x* 1w T @2

Ans X" 1.108v70

75 2.10080
W 345
X 475

[ Question ID : 71939923304

Q.13 ek M i Frsan &t x% @ sTerar a1 &1 Mt & gk qEiy ek | fohast wfaca i gfg ghfi?
Ans  of 1 [x (200 +x)]/100
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Question ID : 71939923296

Q.14 iR Ry mn g R g awrg & fRAfv= AT w g gonm d o arell afgersit i s &t
garfar 81 foreft fafre R o= g & ot areft Afgereit di s i a3t 6 R & o areft
wigenai fir et T & wu F gerfar gl

D5 31 & A @ve gRT 9= AT T T T 82
W 1.0
X 2.70°
X 3.100°
X 4.80°

Ans

Question ID : 71939923306

Q.15 16% <l Goh B 37 & Ug{Td, Ueh a%] i 4536 T & ST 74T § 1 I a%g o1 Sifcha gea a1 82
25 1.6600 30
o 2. 5400 Tt
25 3.6200 30
/X 4.5800 30

Ans

Question ID : 71939923294

Q.16
1

1
1

3l

2
o 1.17/39
5 2.1
X 3.15/17
75 4.6/13

T AT FAT 272
24
3+

Ans

Question ID : 71939923292
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Q.17 <t =afvk A a7 B 5:00 gafg (T. TH.) TR Teh g&R & 400 fh.#f. Y g8 = &1 A gia 25 fh.sft. ufa
et i wfe § B Y 3R T SRW heat § a7 B 9:00 galg (T. ©H.) uR 5 fh.t. ufer ger i wfa
@ A I 3R TT IR el &1 a8 fohe Ty A=?

Ans  of 1700 sTRTE
X 2.6:00 TRTE
X 3.9:00 3RTE
X 4.5:00 TRTE

[ Question ID : 71939923302

Q.18 i fear mar qus R gk wew A 5 auf J sanfea g g g (e #) @t qufar &1

6000 -

5000 -
4000 - 3600

3000 4 ygo 250

2000 -
1000 - |_’
0 T
¥l A

4800
4000

Ag $ wEA (e #H)

Z Y3 Y4 )
g

Y1 aef & Ieufea forg g g (21 #), Y5 af 7 Searfea frg g g (a1 #) <t foamim uferera 82
Ans  off 14583 ufer
/X 2.50.83 ufasra
X 3.49.83 ufasra
X 4. 44.83 vfasra

Question ID : 71939923307

Q.19 846 TUB Y X, Y AUT ZH 1/5: 1/4 : 1/3 & Irgura # aifer S U1l AR Tl § 59 2:3:4
313Ut d ater ATl Z & R are i w18 sifafs afy @ &2

Ans X" 1 22 3uR
X 2.20%7@
W 3 165
X 411303

[ Question ID : 71939923299

Q.20 5+8+5x3+2x3~(5-8+6x3 +2) T A FT2?

Ans X' 1158
W 2938
75 3.30
X 4218
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l Question ID : 71939923290 J |

Section : General English

Q.1 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The employees would like
Ans X" 1 have

x 2. having been

X 3. having to

f 4. to have

a long holiday.

Question ID : 71939923314

Q.2 Choose the word that is opposite in meaning to the given word.

Opaque
Ans X 1. Order

x 2. Shady

J 3. Transparent

x 4. Impose

Question ID : 71939923317

Q.3 In the given question, four words are given out of which one word is incorrectly spelt.
Choose the incorrectly spelt word.

Ans X' 1 Cigarette

x 2. Controller

x 3. Council

J 4. Committe

[ Question ID : 71939923320

Q.4 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X 1 Defaince
( 2. Fortunate

x 3. Enmety
x 4. Detor

[ Question ID : 71939923319

Q.5 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He is addicted to alcohol and exerts a bad influence

Ans X1 for
x 2. about
X 3.in

his family.
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Question ID : 71939923313

Q.6 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Givein

Ans X" 1.To be ready

X 2. Natural and simple
f 3. Surrender

X 4. Source of irritation

[ Question ID : 71939923321

Q.7 Improve the bracketed part of the sentence. If there is no change, choose ‘No
improvement’.

All the students have (passed) the final examination.

Ans X" 1 passed out of
« 2. No improvement

x 3. passed on
x 4. passed away

[ Question ID : 71939923311

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

They expected that (1)/ Mr. Yadav would (2)/ joined them (3)/ No error (4)

Ans  of' 1 3
X 2.4
X 31
X 42

Question ID : 71939923309

Q.9 Rearrange the parts of the sentence in correct order.

P: and well written

Q: her diary

R: was an accurate

S: record of those times

Ans X 1.SPRQ
o 2.QrPs
X 3.PSQR
/X 4.QPRS

[ Question ID : 71939923316

Q.10 Choose the word that is opposite in meaning to the given word.

Impute
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Ans X" 1. Unequal

x 2. Keen
x 3. Sharp
« 4. Defuel

[ Question ID : 71939923318

Q.11 Choose the word that can substitute the given sentence.

One who supervise's in the examination hall.
Ans x 1. Arsenal

( 2. Invigilator
x 3. Arena
X 4. Apiary

[ Question ID : 71939923323

Q.12 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Latin and Greek
Ans  off 1 Unable to understand

x 2. Be patient
x 3. Very much

X 4. Abribe

Question ID : 71939923322

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

War was (1)/ declared against (2)/ Germany by England (3)/ No error (4)

Ans  of 14
5 2.1
X 3.2
543

[ Question ID : 71939923310

Q.14 Improve the bracketed part of the sentence. If there is no change, choose ‘No
improvement'.

She complained of (having tortured) by the police.
Ans x 1. tortured

x 2. been tortured
x 3. No improvement

( 4. having been tortured

Question ID : 71939923312

Q.15 Rearrange the parts of the sentence in correct order.
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Ans

P: is a kind of

Q: for his misdeed

R: narrating the story

S: confession and repentance

X 1.PQRS
o 2.RPSQ
/X 3.SRQP
25 4.RPQS

GET IT ON
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Question ID : 71939923315

Q.16
Ans

Comprehension:
Read the following passage/information carefully and answer the given questions.

In contrast to traditional analysis of minority business, the sociological analysis contends that
minority business ownership is a group-level phenomenon, in that it is largely dependent upon
social-group resources for its development. Specifically, this analysis indicates that support
networks play a critical role in starting and maintaining minority business enterprises by
providing owners with a range of assistance, from the informal encouragement of family
members and friends to dependable sources of labour and clientele from the owner’s ethnic
group. Such self-help networks, which encourage and support ethnic minority entrepreneurs,
consist of primary institutions, those closest to the individual in shaping his or her behaviour
and beliefs. A major function of self-help networks is financial support. Most scholars agree
that minority business owners have depended primarily on family funds and ethnic
community resources for investment capital. Personal savings have been accumulated, often
through frugal living habits that require sacrifices by the entire family and are thus a product
of long-term family financial behaviour. Additional loans and gifts from relatives, forthcoming
because of group obligation rather than narrow investment calculation, have supplemented
personal savings. Individual entrepreneurs do not necessarily rely on their kin because they
cannot obtain financial backing from commercial resources.

SubQuestion No : 16
Which of the following means the same as accumulated?

X 1. Decrease

K 2. Reduction

( 3. Acquire

K 4. Dispersal

[ Question ID : 71939923328

Q.17

Comprehension:
Read the following passage/information carefully and answer the given questions.

In contrast to traditional analysis of minority business, the sociological analysis contends that
minority business ownership is a group-level phenomenon, in that it is largely dependent upon
social-group resources for its development. Specifically, this analysis indicates that support
networks play a critical role in starting and maintaining minority business enterprises by
providing owners with a range of assistance, from the informal encouragement of family
members and friends to dependable sources of labour and clientele from the owner’s ethnic
group. Such self-help networks, which encourage and support ethnic minority entrepreneurs,
consist of primary institutions, those closest to the individual in shaping his or her behaviour
and beliefs. A major function of self-help networks is financial support. Most scholars agree
that minority business owners have depended primarily on family funds and ethnic
community resources for investment capital. Personal savings have been accumulated, often
through frugal living habits that require sacrifices by the entire family and are thus a product
of long-term family financial behaviour. Additional loans and gifts from relatives, forthcoming
because of group obligation rather than narrow investment calculation, have supplemented
personal savings. Individual entrepreneurs do not necessarily rely on their kin because they
cannot obtain financial backing from commercial resources.

SubQuestion No : 17

According to the passage, traditional analysis of minority business would be least likely to
do which of the following?
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Ans

\f 1. Examine business primarily in their social contexts.
K 2. To accumulate personal savings.
X 3. Focus on the maintenance of business rather than means of stating them.

K 4. Focus on bank loan.
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[ Question ID : 71939923327

Q.18
Ans

Comprehension:
Read the following passage/information carefully and answer the given questions.

In contrast to traditional analysis of minority business, the sociological analysis contends that
minority business ownership is a group-level phenomenon, in that it is largely dependent upon
social-group resources for its development. Specifically, this analysis indicates that support
networks play a critical role in starting and maintaining minority business enterprises by
providing owners with a range of assistance, from the informal encouragement of family
members and friends to dependable sources of labour and clientele from the owner’s ethnic
group. Such self-help networks, which encourage and support ethnic minority entrepreneurs,
consist of primary institutions, those closest to the individual in shaping his or her behaviour
and beliefs. A major function of self-help networks is financial support. Most scholars agree
that minority business owners have depended primarily on family funds and ethnic
community resources for investment capital. Personal savings have been accumulated, often
through frugal living habits that require sacrifices by the entire family and are thus a product
of long-term family financial behaviour. Additional loans and gifts from relatives, forthcoming
because of group obligation rather than narrow investment calculation, have supplemented
personal savings. Individual entrepreneurs do not necessarily rely on their kin because they
cannot obtain financial backing from commercial resources.

SubQuestion No : 18
Which word from the passage means the same as agreement?

K 1. Frugal
( 2. Obligation
25 3. Assistance

x 4. Clientele

[ Question ID : 71939923329

Q.19
Ans

Comprehension:

Read the following passage/information carefully and answer the given questions.

In contrast to traditional analysis of minority business, the sociological analysis contends that
minority business ownership is a group-level phenomenon, in that it is largely dependent upon
social-group resources for its development. Specifically, this analysis indicates that support
networks play a critical role in starting and maintaining minority business enterprises by
providing owners with a range of assistance, from the informal encouragement of family
members and friends to dependable sources of labour and clientele from the owner’s ethnic
group. Such self-help networks, which encourage and support ethnic minority entrepreneurs,
consist of primary institutions, those closest to the individual in shaping his or her behaviour
and beliefs. A major function of self-help networks is financial support. Most scholars agree
that minority business owners have depended primarily on family funds and ethnic
community resources for investment capital. Personal savings have been accumulated, often
through frugal living habits that require sacrifices by the entire family and are thus a product
of long-term family financial behaviour. Additional loans and gifts from relatives, forthcoming
because of group obligation rather than narrow investment calculation, have supplemented
personal savings. Individual entrepreneurs do not necessarily rely on their kin because they
cannot obtain financial backing from commercial resources.

SubQuestion No : 19
Which of the following illustrates the working of a self-help support network?

K 1. Individual entrepreneurs do not necessarily rely on their kin.

\f 2. A neighbourhood based fraternal organisation develops an, on-the-job training
programme.

x 3. The local government in a small city sets up a programme that helps teenagers find
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their jobs and a neighbourhood based fraternal organisation develops an on-the-job training
programme.

x 4. The local government in a small city sets up a programme that helps teenagers find
their jobs.

GET IT ON
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Question ID : 71939923325

Comprehension:
Read the following passage/information carefully and answer the given questions.

In contrast to traditional analysis of minority business, the sociological analysis contends that
minority business ownership is a group-level phenomenon, in that it is largely dependent upon
social-group resources for its development. Specifically, this analysis indicates that support
networks play a critical role in starting and maintaining minority business enterprises by
providing owners with a range of assistance, from the informal encouragement of family
members and friends to dependable sources of labour and clientele from the owner’s ethnic
group. Such self-help networks, which encourage and support ethnic minority entrepreneurs,
consist of primary institutions, those closest to the individual in shaping his or her behaviour
and beliefs. A major function of self-help networks is financial support. Most scholars agree
that minority business owners have depended primarily on family funds and ethnic
community resources for investment capital. Personal savings have been accumulated, often
through frugal living habits that require sacrifices by the entire family and are thus a product
of long-term family financial behaviour. Additional loans and gifts from relatives, forthcoming
because of group obligation rather than narrow investment calculation, have supplemented
personal savings. Individual entrepreneurs do not necessarily rely on their kin because they
cannot obtain financial backing from commercial resources.

SubQuestion No : 20
Q.20 The passage best supports which of the following statements?

Ans X 1. The financial institutions founded by various ethnic groups owe their success to
their unique formal organisation.

x 2. Successful minority-owned businesses succeed primarily because of the potential
strengths of their founders.

« 3. Minority groups have developed a range of alternatives to standard financing of
business ventures.

x 4. Self-help networks have been effective in helping entrepreneurs primarily in the last
50 years.

[ Question ID : 71939923326

Section : General Hindi

Q.1 Ry g are A & 91 e W’ @ wra fifSigl
5] A T @
Ans X" 1 Rt

Y R
5 3. wha

X 4.3

Question ID : 71939923338

Q.2 fRu 7y Rereur & Iugsh form Rig o1 9= fifSigl
C11-Ed forarsit s g
Ans A
XZ.;.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

W3
p

[ Question ID : 71939923344

Q.3 Ry 7Y 2rez &1 U wra fifSig)

TR
Ans X1 sran

W 2 of
X 3o
p R

Question ID : 71939923332

Q.4 Ry 1y Reneur & Sugeh ggreR &1 99+ fifag)
o e sad _____ amam
Ans  of 1 i d orh
X 2. g e @
25 3. g i e
X 4. e rirem

Question ID : 71939923343

Q.5 fRg 7Y gereR &1 o1 7 e FifSg)
‘T AT AT
Ans X 1. weaE) a%g o
X 2. 3 Stare &
3. R g
X 4. s g

[ Question ID : 71939923342

Q.6 f2 7y 21z & GiY Rede 7ra HifSial

[ Question ID : 71939923330

Q.7 Q7Y ez &1 HH™ A4 ARG
BCHE|
Ans  of 1 rEE
X 2. gsife g
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X 3. ZgTHE
75 4. aqEy gEE

[ Question ID : 71939923331

Q.8 fRu w1y sifaww fR=refer 2reg @1 oref wira RS

R
Ans  off 1 wfSrit @ frema T areh ammft

X 2. smRor
X 3w

X 4 afswt

[ Question ID : 71939923335

Q.9 fRy Wy eree # & gfeei @ira RS
Ans X1 gedt

X 2. Tt

75 3. 2

W 2 @

[ Question ID : 71939923340

Q.10 fg g ari & | g IR 7 HQI
Ans X" 1.7 STETSl Sl e Y TR el T

o 2. % va STETe R e e el
X 3. STgreT & ftend) el A1 Yah R
p T EL S CE L

[ Question ID : 71939923337

Q.11 Y 7Y 2rez a1 ey 21 wira fifSig)

ITF
Ans X" 1 aefd

W 2 i
X 3505w
X 4. s

[ Question ID : 71939923334

Q.12 Ry g arey # ar= 71d RfSwl
&Ueh ZRT 39 @1 ST g1
Ans X' 1. wearen
X 2. afaren
W 3. wdar=
p R
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Question ID : 71939923339

Ans

Q.13 Ry g Repeu d are & TR T ad-t arer 2reg 71 RS

dg Qs Atagd _____ @1
Xt
X 2.
o 3.
X 4.

[ Question ID : 71939923336

Ans

Q.14 Ry g farm Rig & @ IR ARGl &1 wa fifsigl

v
F R
X 31
y

[ Question ID : 71939923341

Ans

Q.15 Y 7q 2rez a1 yafgarh e fifSQl

T2t

W 1. e
75 2. 9
X 3.4
X 4. orepfa

[ Question ID : 71939923333

Ans

Comprehension:

Qe eI foam T &1 TerieT & SUR U U &g Ty 8| Terier st ergden Ue a1 Ul U oh IR
faeredi & O Tel faeed g1

dga e gaft & forg Sfiaa & omt g ofk Ttherar U e & iy 9gd srmasad 81 a8 gH |

T fIenfid & & a1 &t gAR e fafor 7 +ff Tgrrar seet 81 Tpeft e sfiaw & wgm
ferent el &1 R 18 o ot omafies fvem, Areafaes fem oiik S= frem S s Wit & afer man 81
frer & gfY TR 3T Ues fay aga g Wi w@d §1 3t & 39 ufaanht 9ur F, gt & forg fverm v
AT Tgd IR & | I RIS T Fgd erst R 37T U U e & forg aga oifdes ag mam &1
I e wfasa & amt 9 & forg S © Il et AT Rt &1 I8 §HR T o TR, dhe1chl dhisre
3R e & I=T TS i UTed et o GRT g4 FTHTfSTeh, ATHIIeh 9 sifegen $U § #otgd a-Tdt &1 8¥eh
AT U ST H G ST e Sl TUAT 3T 8| IRAET ANTH o AR ot 3= TR WR faehfid et &t
RS et & SR TETST H T & g oft dgoal oht gem B Heg et g | e g SreT temae what
9 H 7eg el & ofR Sita o 8R Uge] ot THE & ol -ae1 ol faefla seclt 81 frerm a+ft ara
SRR, TS AR, 231 & ufd ehdedt SR gl ot gag™ & off AR Tgradr el &1 fRA&1r ar
EAR Site & refies Ag<id &l

SubQuestion No : 16

Q.16 QR fvem &= ot foraat Wil & afer mam &2

X1 ER
X 2.ufe
W 3.
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Question ID : 71939923346

Ans

Q.17 fen & #Areaw @ 1 fArfRd A d ggraar Aed 82

Comprehension:

Qe eI o T &1 Terier & SR U U Ay Ty &1 Terier oht ermyden Ue aeT Udidh U oh IR
faeredt & & Tgl fosed |

g frer Foft & oy Sfiae 7 St g 3R TthetdT U e & ol 98 Smaad g1 Tg gi d
STHTIFTE fIenfid = & AT B GAR Ached (HAT0T H +ff GgRIAT Seelt | et A& St d 78
frent Freareht &1 QR Rvem o ot Tmrfives fRvem, mreafies frer ofk 3= e S i st & affer mam &1
frem & goft TR 3701 Ueh ALY Hg<a T WiF I@d &1 3179 & 39 ufaaift 99r & gt & oy fem ura
AT Igd AT & | = AL o1 Hged et 3R 3reeT e U o & forg sga 3ifees si¢ mar g1
I fvem wfasa & omt 9 & fog 9 O Il ot T Bt &1 I8 §HAR T o W, dhH1chl ahiere
3R et H I UG I UTd I Sk GRT 81 ATHTISIeh, ARG 1R difgen €0 & Holgd a-1d gl 8k
T YA Sfia H o STRT e Sl JUAT 3T & | RIS AT 3 AR ot I TR W fAenfid e &1
S et & 3R TSt § ATl & ofi gt Aeural ot g & Aeg hedl g1 8T gF ST i hdi
T H Fag ehed! & SfR S 3 g3 Uge] ol TH3H & fol GH-g31 ol faariord ot 81 fver asft ara
SfeRRI, TrTRoIeh S1feRI, 331 & Tl dcfedt ok a1l ot awga & off gart TeradT et &1 frem et
AR Sfe & Sranfdies Ag<a gl

SubQuestion No : 17

X 1. dgar R
25 2. e

o 3. srcafer

5 4 smmTUT

[ Question ID : 71939923349

Ans

Q.18 I=a fAet =T U h & TEh &7

Comprehension:

Qe eI foam T &1 TenieT & SR U U &g Ty 8| Terier st ermyden Ue a1 U U oh IR
frepedt & @ Tl e T

Sga e geft & forg Sfiam & omt g ok Toherar U e & folg 9gd ermasas &1 a8 gH |

T fIenfd da & a1 &t gAR ke fAaTor 7 +ff Tgrrar st 81 Tpett e sfiaw & 7gm
ferent Freareht &1 QR fRverm o aht Tmeifiven fRvem, Areafen fver ofk I=ar e S i 9Tt & sier mam 81
fRrem & gt TR 3701 Ueh ALY Hg<a T WM @A &1 31791 & 39 ufaaiit 99rR & 9t & oy fem o
AT I AT & | I RAETT BT A ATehel TR 3BT UG Ut T h folq Igd S1feeh 9¢ T g
I e wfasa & omt 9 & folg S © Il ot FHAT0T Rt &1 I8 §HR T oh Wi, dhH1chl hisre
3R Fiedt § I=a U ol U A & gIRT g4 ATHTfoieh, AR ofR difge 0 & Aeted a1 81 8%k
T 7O ST H G© ST e hT TUHT G & | 18T AT o Aish et g TR R fAemffa & ar
PR et & SR TETST H T & g oft Agoal ot gem B Heg et g | 8 g SresT stemae whal
T Heg el & ofR St & gR Uge] ot THE & ol 1-ae1 ol faefia st 81 frerm a+ff ara
3fARRY, qrTfoies Sifenri, 321 & ufd et iR g1t ot Taga & off gart Tgraar st 81 e &t
AR Sha & e Tg<a gl

SubQuestion No : 18

251 Remrd
X 2. qEnd
X 3. Tm

W 4 et

[ Question ID : 71939923347

Comprehension:
ok TTRITST AT T 81 IR & SR WR U Y MY &1 eI S emydds ué 9T U UM & IR
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foreneat & 9 Tg faehed T

dgar e goft & forg g & omt sg= ofk Ttherar U A & oI 9gd simaad &1 g8 g9 A
STHTIHTE fenfiid et & AT §Y GAR Ached (HAT0T A +ff gRIT Seelt & | Tqpet! R8T Sfia= d 78
Sferent fFrearcht &1 QR e o oht Tmerfiven fRvem, Areafien fver ofk 3= e St i Tt & affer mam &1
fRrem & goft TR 3701 Ueh ALY Hg<a T WF I@d &1 39T & 39 ufaaift 9ur & gt & o fem ura
AT Tgd HTITR & | I A& T A Achel SR TBT UG U A oh folg agd $1fdeh o Tam 8|
I fvem wfasa & omt 9 & fog aga @ Il ot T Rt &1 I8 §HR T o R, dhHIchl ahiere
3R el H I UG I UTd I Sk GRT 81 HTHITSIeh, ARG 1R sifgen €0 O Holgd a-rd gl 8k
T YA Sfa H o ITRT et Sl JUHAT 3T & | RIS AT 3 AR ot I TR W fAehfid e &r
S et & 3R TSt § ATl & ofiwr gt et ot g & Heg el g1 8T g7 ST i hdi
T | Aag shed! & SfR S 3 g3 Uge] ol 9o & foly GH-g31 ol fAaiord et 81 fverm asft ara
SRR, QTR STfeRRI, 331 & Ui dcfet SR a1l ot auga & off gaRt TeradT et &1 frem a1
AR Siia & 3ranfies #g<a gl

SubQuestion No : 19
Q.19 I~k Terier & Iugsh 2fidfes aar gim?
Ans  off 1. R o wewE
25 2. AR a1 HE=E
Xs.aama;w

25 4. Ruerent a1 wg=ia

[ Question ID : 71939923350

Comprehension:

Qe eI oA T &1 TerieT & YR R U &g Ty 8| Terier st emyden Ue a1 Ul UK oh IR
frepedt & @ Tl ey TR

dgar e gaft & forg Sfiaw & omt ge ofk Toherar U A o folg 9gd Simaas &1 T gH |
STeAIYT fIefa e & T1er & g9R Afched AT # off TeTaar sheelt 81 Whedt fR1em sfia & 7gm
ferent Roelt &1 R fR1em o ot omafaes fvem, Areafaes fem oiik S=a frem 9 s 9l & afer man 81
fret & gfY TR 3T Ues Ay aga g Wi T@d &1 31T & 39 ufaanht 9ur F, gt & forg fverm v
AT Igd AT & | I RAETT T A ATehel IR TSI UG Ut The h folq Igd SHfeeh 9¢ T g
I e wfasa & omt 9 & forg S © Il e AT Rt &1 I8 §HR T o Wi, dhe1chl dhlsret
3R et & I=T U i UTed &het o GRT g4 FTHTfSTeh, ATHIIeh $R ifegen $U § #otgd a-Tdt &1 8¥eh
T 7O ST H GBS STl e hT TUT I & | U8 AT 26 AiIsh eht I TR R fIehEa & ar
TR et & SR TETST H T & ot Goft Aol oht gem B Heg ot | fReT g SreT steae hal
9 H 7eg ) & SR Sita & §R Uge] ol THEIH o ol YH-ae71 ol faef¥a secht 81 frer a+ff ara
3fARRY, qrTfoies S1fenRy, <21 & Ufd dhddeat 3R a1t st Tag 7 off g0 Tgraar st | et a1
AR Sha+ & 3rcanfies mg<a 8l

SubQuestion No : 20
Q.20 = Uch aI<dT T YT IQGdT %’

Ans X 1. aifre ot e, 7 et €
W 2. e & g srem e
25 3. e Y e &
X 4. e ureE @

[ Question ID : 71939923348

Q.1 = & Rigia & oguR, a=d R=faf@a & 9 fFg srawun & amm=r @k @ g @ 82
Ans o 1. shveTRes e wRoT

75 2. 3 (dhehie) dftharenen sraeen
X 3. ud Gftrarees s
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X 4. <8 Hree e

[ Question ID : 71939923357

Q.2 FEAfafEa & @ &9 a1 @aTeHs fFaRes 7 urs s fatyared d @ ges g 82
Ans X' 1 gmen @ e

W 2. smarh @ enifRa gt s

25 3. et s @

25 4. g & Rere w0 § 2

Question ID : 71939923359

Q.3 He-dauT-g15s RAgidl & R uR e w1 fAntor fra waR & AT grR1 frar srar &2
Ans X" 1. srel-gpRrel AT GorTeH Al

X 2.7 et 7 € gerTene

X 3. T

W 4 Feigaa

Question ID : 71939923370

Q.4 fA=faf@a d @ o ot emarei 7 @ ge T & St gead @R & AgaR fRAduarenes 9a &
Sicrfa et g2

Ans (1.61-%5“1 T3l 3R AT ohl T SheTl

X 2. Hensh &) ggErE

3. IR STHRIRGT eht g AAT TG Tl
X

4. f hT 31che 3fR ST hl Yo ich heT
X 4 agd o

[ Question ID : 71939923352

Q.5 ____ Ad EgR & fafay ugqgsit A srguge AES] & U 9=’ ot Hafia weedl & St
TS 9T rTiores Real & gare Tares & Qg sl avg Turiie, agst ©igd aur smemnegd
Tyt TSt g Rfafa gar 21

Ans X" 1. diendifien Tear
25 2. fast g
X 3. duft der
o 4 arfie wer

Question ID : 71939923361

Q.6 fAmfaf@a d | w19 a1 oren srguRYN & aga srauron fAnfor &) weanfaa wA 7 yffe Avrar
&

1. uRarR & gewai & a1y dey
11. EEROT R
111. grenRor feafa

Ans 1 1 Il
25 2. 1 11 &t
r SN
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Question ID : 71939923360

Q.7 Which of the following is NOT a general category of life skills?
Ans ( 1. Interaction skills

X 2. Social skills
7% 3. Emotional skills

X 4. Thinking skills

[ Question ID : 71939923364

Q.8 WRdT HfUT @l S AT e Uedeh IRIR =1k &l Fo Hiferes SRR H TRE a1 22
Ans x1-8

v 22

75 3.58

X 442

[ Question ID : 71939923366

Q.9 f=faf@a & & = 91 SaFTeneh SIgEe g% (CORT) SUeheuT aafwhal i &E fafe=
GHTaT3iT 3R Srgehedl & @ g Y argafa AT @2
Ans X 1. guft el IR IR et (figqeh)
o 2. Teeht wEcayot mufieraTs (g o o)
X 3. srgare, s, v (el
X 4. s, e, Reerees (Rrem) (g

[ Question ID : 71939923354

Q.10 w=af & s I fape _____ @ s glan gl
Ans X 1.1 a9 i amg

X 2. 58 amg

W 3 = ER

X 4298 demg

Question ID : 71939923355

Q.11 Which of the following is true about textbooks in India?

I. Textbooks dominates the curriculum
1l. Teachers spend most of the class time simplifying it and familiarising students with it

Ans X" 1. Neither I nor II

75 2. onlyl

o 3.Bothland I

x 4.0nly |

[ Question ID : 71939923368
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Q.12 foreR srfeawun ot foReft +ft TSt Y e = AT 8, S uR oy weumd AR 87
Ans  of 1 Gt A

X 2. bearie wri
X 3.8 4 smR
25 4. e gt

Question ID : 71939923369

Q.13 fore gwTSTash A <k far fk fener frft s & aoma aarst o1 uas gl aur ufafde &2
Ans X" 1. gl HTeRS

75 2. gurde gt
W 3 i
X 4. reie ard

Question ID : 71939923362

Q.14 F=faf@a § 9 w9 91/@ GAFTeHs SIS & (CORT) & IUh?UT 87

1. gfieft = Srgeren, GHTEATY, Ui
1. frawans = sitgan, g, Reraw (Remr)
111. TYTw = Foft R R AR &

Ans  of 1 11l
P AR
P AR
r AT

Question ID : 71939923353

Q.15 fA=faf@a d @ i 91 FRe ATeH- ATURUM ht THTfAd HedT 8?2

1. I 3R U=
II. TeTdT a1 S HerdT

1. gfgm=n
IV. SHTSYeR i

Ans X1 1, Il

W 20 @y
p SRR

p ARSI

[ Question ID : 71939923351

Q.16 Which of the following is NOT one of the stages of Information Process Theory?

Ans X 1. Sensory processing
x 2. Retrieval of relevant information from memory
( 3. Using selected information

x 4. Manipulation of information

[ Question ID : 71939923358
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Q.17 Fr=afafea d & @ av/@ a==i & R 8/ &7

1. IR Ty Fard uTd AT

1. Sfia= 1 SR

1. w1a-feT gR1 3@ fond s
IV. ATquTeT & Trfies fRYed ure e

Ans o 110 R IV

25 2. @

X 3 nawi

p SARIECHY

Question ID : 71939923356

Q.18 Who considered economy as the basic structure for getting power and dominance in
society?

Ans x 1. John Dewey
« 2. Karl Marx
x 3. Paulo Freire

x 4. Pierre Bourdieu

Question ID : 71939923363

Q.19 fem &1 ifeR ifdfAaw, 2009 & garR F=faf@a 7 @ &9 a1 gl &2

|. uTETsRH St dfder | fAfga geal fi gt s @iz
1. wRf¥e e gf &9 @ ugst geh a=a &t 1 91 uften S<hof e gt @

Ans X1 @ Iadl
W 2 ¥
25 3.1 Il &t
X 4 Fa

[ Question ID : 71939923365

Q.20 fA=faf@a d @ wia a1 Fu= 9 /82

1. erferm sftualRes iR ertuenRes feafaat & glan @
1. 31fnTH sgagR =l danfda/aRafda s=zar g
111 31fm gafaRor & ATy e s HY g ufhar @

Ans X1 |Gl @t
2.1
X 31t
p AT

Question ID : 71939923367

Section : Discipline2

Q.1 F=faf@a & @ wi= ar/& fAeror H geef= RAfd w1/ e 8/8?

1. ag 1fdm & forg MienfRa &=t @ aur faenffat H =R a=mg @ & yaa w2
Il. Ig AT ahl W hell & a1 faenfRial § war a91g T@A &l gerar <t @ aur suahft sifdem
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& forg At were &t &
111. el & ER1 sreaTues gRT fAenfal fi 2ierred w1 Raror 3t T9a aur sg frar siran &

Ans X1 gl

2.1 17
p SR
p LU

[ Question ID : 71939923379

Q.2 Who is a true teacher?

Ans x 1. Who has built an impressive educational organization
x 2. Who is bound to an ideal or a belief
x 3. Who uses teaching as a means of acquiring position or authority

« 4. Who is free from compulsions of the society

[ Question ID : 71939923371

Q.3 ___ Uek Tk IUNH &, St Trfged § forelt o an sfagr & i wia & deaf
forenfefat &Y ara 1 fRAcwor FaT 21

Ans X" 1 ggehrd st
W 2. Tezier st
25 3. fmm e s
X 4. et $Rer s

Question ID : 71939923384

Q.4 pi 91 fAe1or U 39 fayra wR 3mefRa @ fo "sreaTuer ag 9« SI=dT @ Sl &= aht S i
SATIYehdT gidl 8"?

Ans X' 1 grele Hfid SumH
W 2. srers SRd Surm
75 3. Rva HRa surm

X 4. TeeTeHe 3uRH

Question ID : 71939923377

Q.5 fA=faf@da d @ w9 ar eifnm ervary sifenm &g dterforer ervara st eru=rar 82

1. 31T TUTHT T SIgE
1. SehIfeIes 3id:fhaTerer sifenmy fraTerea
1. o 3mrenfd Sita sifeRm

Ans  of 1 | i@l

y SPAEOT
X 3 ai
y AL

[ Question ID : 71939923382

Q.6 F=fafaa d & aar RAfe ufkeart H wrsi & fiw v smeM-uer & aRkem &2

1 e ar=x
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Te AICTSHITT K19
Il. U &1 &R
1. Fft wRer vrwrert & IH Qe

IV. GI%<h 21
Ans X1 |quTIv

X 2. 1@
W 3Ty
p SRR

GET IT ON

Google Play

Question ID : 71939923389

Q.7 AT &er & adieh & aR d FA=fafe@a § @ sl arad &2

1. =t BT a¥iehT sitaTeil & STHR J&ear &

1. ST 9T SafHITd aTdTaRor § Teh g UTST 31etiT- 3o d<ichl @ aiefl Sirel @
11l. gAR A 1 aenT gAR AR & & oft gafad R Gehar g

Ans B 1| qrll

W 2 1@
p SNl
y A RNIEST]

[ Question ID : 71939923388

Q.8 Frafaf@a d @ e vrwr H agaet ufasm qur 59 Iuaht @t Hifad Far a?

1. FTERYT S Y I @ foR M Sherer ST 6T Tk AreE @
1. g gfReRlur o5 "aTes THETa” MTHT AT IS JUTNT I Teh AR ST E
111, roTfarg R I foh TS STRROT AT AsZhI2A T Teh HAtT &

Ans X 1 |1qlll

W 2 1
X 3@l
p SRR

[ Question ID : 71939923387
Q.9 &H 3wl 31ufd 0, 1,2, 3,4, 5, 6,7, 8 AUT 9 WR SNuTRA §&A] goaa: ____ ZRT 31fAehfcad Fi
HERS ]
Ans X 1. gamferat
W 2 i
X 3. smRfrat
p
[ Question ID : 71939923390

Q.10 Which of the following statement regarding teaching-learning process is correct?

I. In a teacher centered classroom the students are active learners.
1I. Constructivist learning and teaching considers student as passive learners and teacher
facilitates the process of knowledge construction by the students.

Ans 1. 0nly|

75 2.Bothland i

X 3.0nlyll
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J 4. Neither I nor |l

Question ID : 71939923378

Q.11 59 aFadEE! aataaT=es &1 AT o7 6 ifem v @ @ amfSies & au9r a=ai &t
ETSIes arareRor # fRAfST A @ & wiasy § o amikes s9i1?

Ans X" 1 & g, @R
X 2. urse R
X 3.4 gat. uriens
o 4 et ot

[ Question ID : 71939923385

Q.12 FR=faf@a & @ w9 a1 fene™ 1 ararearor fer ot e1fdes gurdt g1 2 qur siférm & forg
IuYh g?

Ans ( 1. EaRY ot S1fe Irft § SaRahaTaR TSI T §
x 2. T T SHfereRdT aUT HIS-41TS It AR # o=d UHe § I gUE aA AR @ 6
X 3. STETUE SRAEH S 7@ & forg sreeif W et 261 8
X 4. wd R & g e sroafe siTe & Ay 1 oft &

[ Question ID : 71939923372

Q.13 Bl HY FgHIfiar &t aeran 3 & forg angfew foraTd e e o smaae g1 Fefaf@a &
@ o yuTt "ngfaeh/art ulteat $i mpa fattvang &2

. BT ZRT U g1
11. B gRT 9Ifd4l @ @aR 9ftha ©u @ ggrdar a1

Ans X' 1 e Il
Xo2a@aan
/< 3. e |
o 413 2N

[ Question ID : 71939923374

Q.14 fraror i fra fafa st wgufaes fafer (gl fafer) & am & o s s g2

Ans X' 1 egrer fafy
X 2. ufirer Ry
X 3. @ ge
f 4 T R (Rt dus)

Question ID : 71939923380

Q.15 dft. . fERR gRT fthar srgge & TR & fAfaf@a § @ o9 a1 wu= a8 @2

|. HhRIeH G ad gia1 & STa Wi saagR & d1g Ueh Ufdge a1 sifda I&u= ol gem
@ HAGER & e Hi goat Aed! gl

Il. TRRTeHSE Yol d THIfde AagR & 918 Yok &g ILUA S2ATIT S & Sit AagR Y ger
! ZEAT UG AT &

Ans X 1| qur Il @t

W A A
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F AT LN

X 3. &l
o 4 adiad

[ Question ID : 71939923376

Q.16 ek 3r=est fAeqor-Sifdnrs arft Y o fagtwan(d) &2

|. FrTefY o SuAaTardt gea g wfey
11. fvaror-aiferm amTeft t geent, GRf&a aur g &= @iy
111. fveror-aifnm arrft @ uRfRaar 7 srawurRus «ht Tw=M & ggraes et

Ans &1 gl
y VAL
p SRk
o 4@

Question ID : 71939923386

Q.17 fAeror-ifdms ufthar A wwear aata ugfa @ gen srearaes 6 o et gidh &2

. ThetT # HI-H<h aTdTaRoT ST

1. o= 1 fasawor A J Tt hi Tgradar wATl

111. sl & g1 G, T ARt 9T ST 9T @il &Y 91T AR A d 396 agr«r
&I

Ans &1 1aul

W 2.1 @
p SRk
p A

Question ID : 71939923375

Q.18 g tfr faf o1 IuThT v & foig a=1 & A=faf@a & @ &9 9 IS e g
TATE &7?

1. A e

1. e usieE @i

111. fAofa @7 &1 iz

V. fayra-fAfifa & &1 alare

Ans  of 1 1111l F IV
p SRR
25 3 naw
y AN\

[ Question ID : 71939923383

Q.19 ______ht freneff & =afere aun SamTedss soagR & i Uah <t & U A 21 ST Gehal 21
Ans X 1 siftm R

X 2. 9o

o 3. siftr dft
X 4. svE

[ A it i manAnAA~AAA~n~na
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l QUESTION ID © 719Y3YY433581 J
Q.20 U ek & wu d, F=faf@a d @ ol o aosfie @t Rensa/wen d, FHEw &1 Sugin &k gar
BTl hl GhRIcHG dUT TSIk Bedeh agR &l U & & fog gem/amd s9F & forg
STUHTIT ST JehelT &2
|. ST9 1S BT YhRTeHeh AR hl Uehe Tl &, al 39 Ugar+ hl hfr &R aur 38 I
3 il gt T g |
1. BT &t sfaere aur arfSie A yer w93, A Agayel Il & gwrieAs ugqe &t
Tl & ZRT Uehdlehrul & fag Rigifera i
Ans 1 g laTE I
X 2. FE
W 3.1 2N
p -
[ Question ID : 71939923373

Section : Discipline3

Q.1 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To step on someone’s toes

Ans x 1. everyday without exception

X 2. exactly

x 3. to be too shy to speak

J 4. to hurt his feelings

[ Question ID : 71939923406
Q2 ___ frenf¥al grr srgya fohg g Teie o1 ges et sifeia WeTH et 8, 99T 39 YR 98
zufar § fs Rrenf¥at @t 71 @ sxafeda aur weRr Fergen a1
Ans x 1_11??.@17;5[
qu. SIETROT T FThT
X 3. TETcHERdT o @reht
75 4. 7 o @
[ Question ID : 71939923393

Q.3 fF=faf@a d @ &9 51/ goifes § o & o1 87

1. 7o e fafda gl @

I1. U S gleT @
1. o g R faRa g @

Ans o 1 1 il
X 2. &=l
25 3 A
25 4 @@

[ Question ID : 71939923396
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Q.4 Seven to eleven year old children watched a model play a bowling game and donate some of
the items he won to a “needy children’s fund”. This above statement will develop which of
the following kind of behaviour in these children?

I. Aggression
1I. Prosocial behaviour

Ans  of 1 Only

X 2.0nlyl

/5 3.Bothland Il

x 4. Neither I nor Il

[ Question ID : 71939923410

Q.5 About which of the following criteria that was met by Kohlberg's stages of moral
development, Kohlberg meant that people do not lose the insights gained at earlier stages
but integrate them into new, broader frameworks?

1. Hierarchic integration
1l. Qualitative differences

Ans " 1. Bothland Il

X 2.0nlyll
W 3.0nlyi

X 4. Neither I nor Il

[ Question ID : 71939923408

Q.6 7o # fohe avg & T & fog fa=awor qur d@sdvor f&fS @y & et 82
Ans X" 1. gefieRor ol e AT

W 2 aRanas
X3.€ra"ramna'cr
X 4. g aur gl

[ Question ID : 71939923394

Q.7 ______ Tk QIYRUT IU0T AT, [ ff. uw v gt snfaserr v mam an, fS9=) ger farsg &t
o Sfere Aant ues, Farel & stara 3 aur R 93 ot dteaw, a8 3 &Y srgafa & fk fRra
gl ATl

1. fveror wefiw
11. erfenm 7fi=

Ans X1 @Al
X 2. &=l
75 3.1 il &t
o 4 Faa

[ Question ID : 71939923409

Q.8 Choose the word that is opposite in meaning to the given word.

Favourable
Ans X" 1 flexible

x 2. calm
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( 3. inauspicious

x 4. sweet

[ Question ID : 71939923401

Q.9 Choose the word that can substitute the given sentence.

A play with a sad or tragic end
Ans x 1. caption

x 2. elegy
x 3. sonnet
(4. tragedy

[ Question ID : 71939923404

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Not only the soldiers

Ans X' 1. and
W 2. but
x 3.s0
X aif

their captain was also captured.

Question ID : 71939923407

Q.11 Choose the word that means the same as the given word.

Compassionate
Ans x 1. mean

x 2. concise
x 3. small
W 4. pitiful

Question ID : 71939923403

Q.12 fFA=fafa@da d @ &= @ s Rufor sifYeeaan atea &Y sewan/d 87

1. ursiTfieRRoT
1. H=ITeHeR TfAgLan
111. Tgahfieor

Ans X 1 g |l

W 2 @

25 3.1 Il &t
F ARSI

[ Question ID : 71939923395

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He was one (1)/ of the best (2)/ maths teacher availability (3)/ No error (4)
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Ans X172
23
X 3.4
X4

[ Question ID : 71939923400

Q.14 fA=faf@a d @ o d fafer gu<ar o vwmoT ver w=dt &2
Ans X' 1 fasaworenes fafY

' 2. dsiones Ry
25 3. uRaiter fafy

X 4. smrHATCH fafey

[ Question ID : 71939923399

Q.15 yurfes & ar # fafafaa 7 @ o a1 su ad 78 82

1. Y Qo quifer 781 & R GaQ a1 whgt o Gara 21 e oft a1 quifes o o, Sa@ off
T2 guifer 1 Sifae gl @
1. [ (0) = &Y eFITeHeh § aUT 7 g FHoTeHh

Ans  off 1 T IATE
75 2. 1 11 &t
p
p R

[ Question ID : 71939923397

Q.16 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Turn upside down
Ans x 1. clear from the records

x 2. arrive casually
J 3. search thoroughly

x 4. ask for help

Question ID : 71939923405

Q.17 "&} urepforeh/quf Heanait et a1 Qeh Wiepferer/gut we & ghft 1" ag s urepfaes aur gof
demait & g & Fafafaa J @ forg qor 1 gerfar &2

Ans X" 1 gyl gt & dhicHe ggEH
(z.ﬁqa—memgm
X 3. R
K 4 g

[ Question ID : 71939923391

Q.18 Choose the word that is opposite in meaning to the given word.

Artless
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Ans X 1 destroy

x 2. machine
x 3. safe
« 4. crafty

[ Question ID : 71939923402

Q.19 1AM TEAT Uonelt &, ______ &hl TUTH-1Rek hgl STt &l

Ans  of 10
X 2.2
X 33
N

[ Question ID : 71939923392

Q.20 The approaches of learning must have to address which of the following for the
development of creativity among the learners?

I. Freedom to students for questioning and expressing ideas.
1l. Active learning and process based assessment.
111. More scope for problem posing and problem solving.

Ans o 1 1 11and

25 2.only I

/X 3.Both Iland Il

X 4.0onyll

[ Question ID : 71939923398

Section : Discipline4

Q.1 F=faf@a d @@= a1 Sugiht doger 9= & d@eof 7 agt g2

. ‘et R FHATIERAT e STt sheger uR Afea fovar e ' @Ror 3 & siafa smar @1
11. 'sreal &t Rt UR o1 g1 YRR aar avor 1 & sianfa sirar g1

Ans X 1 aad I
r AR
X oz a@iaan
W 4 ¥

Question ID : 71939923429

Q.2 F=fafea & @ a9 a1 sy g9, .4 oR.& vaferor sreag & ursashn & = d g 87

. ursTehH okt "l i it & wu & T Afha "vewor & wu A St frar smar @1
11. SU-THe0T T §E AUT IRER Hag, H T91 Tt frenfia et & fog srgafa &3 €1
1. Rraes ugfa Sunms fAfvs Rl qur ergemea @ uRvey @9 & e avar g1

Ans 3K 1|1 qr Il @t

W 2.1 17
25 3.1 11 &t
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Question ID : 71939923413

Q.3 = d & & a1 Aerenifafea worifaat # anfae &2

|. Tga: FAryfror
1. gefteq AT

Ans  of 1 el @
X 2. &=l
p S IE Eill
X 4. e |

[ Question ID : 71939923425

Q.4 = d @ e @ afafafa & RenfFat Hi vrar A srae o g, i ek T ugar fak 39
FATERE?

Ans X' 1 gaerE
X 2. el e @
25 3. 20 et e
o 4R

[ Question ID : 71939923417

Q.5 Ffaf@a & @ o= /a7 yafaror siega= & sifer feqor o 322T 82

1. Frenfat ot gafarofta qef ot awem d Aeg wwar &1
11. HeRRTcH<h hTAl h Wi ad &hdT &1
.5z =t ursa arft ae ST w@ar i

Ans &1 1, Il
X 2. e |
W 3.1 2
p Rl

[ Question ID : 71939923412

Q.6 f=faf@a d & o= a1 asie yfawr &1 g fwr T8 8?
Ans X" 1. st orft oht e wU @ AR duT wefRia e

(z.wmaﬁmwwﬁam
25 3. st ) fafr oA @ S @A & g daR aheen
X4ﬂ?ﬁﬂ#ﬂ@lﬂ?ﬂﬁﬁ%ﬁﬂﬁﬁﬁ@ﬁﬂiﬁﬁﬁﬂﬂﬁ%%ﬁﬂﬁ%ﬁm

[ Question ID : 71939923426

Q.7 f=fafaa d @ frg de-fies &1 Iual, 7 AETactl st d2r = & forg farar Si1 Tepar 82

1. a3 T ISUTIT AT
II. gEaent & Rsror vefia @ear

Ans  of 1 |l S
X 2. FE
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X 3. e |
X oaa@iaadn

[ Question ID : 71939923422

Q.8 w1 & & ol |1 Uos Suanf dheger w5 & @01 1 # anfiae &2

1. g FRram it ot e
1. frenffat et shugeR T SR IuTIT A 3T

Ans X1 |G Il @
W 2 ¥
X osa@iaan
75 4 el

Question ID : 71939923427

Q.9 fF=fafda d & = A= nfafafd & 'areg-wR da=' & siafa simar &2

|. SIAYROT / 2AE STt ()
1. =T i =t

Ans X1 aad i
p S EE
P AR

W 45

[ Question ID : 71939923424

Q.10 TafaRur sreaa= wR uRAtsTsi & Areaw | e gr1 Aafafe@a § & e uge @1 geaiaa
fora <11 Hemar &2

1. aRaisTr Ruié vgfa i qoramr

1. fRyenfat Y gi=@ A emrar

111. frenffat fir erar e fRArscwor @
IV. 22T hl TROT <A hY &HaT

Ans  of 1 11l

p SVARIECHY

y SRRRIECH

p SRRIECH

Question ID : 71939923414

Q.11 =1 & & s #ft Fgr-smenRa urst # siarsii & ust Yo &1 FRUT & Tehel 87

1. o= srTET efiR afa @A
11. Tg udl 7= & fAg o6 frenffat o foreft favg & aR A ugat @ s war &1

Ans X 1 aad ll
75 2 Faw |
W 3 1@
R SIE Eill

[ Question ID : 71939923421
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Q.12 gt WR 3meniRe i & foIg g ugfa RF et & forg i wites o Suai forar s wehar 82
Ans X" 1. gy =R AT (HiSe)

X< 2. focfrr o e (e

X 3. = =Ror g (Hiee)

o 4. i o T (st

Question ID : 71939923420

Q.13 By the age of ten, children can .

I. understand abstracts
11. understand symbols

Ans x 1. Only |

x 2. Neither I nor I

75 3. onlyll

o 4.Bothland I

[ Question ID : 71939923418

Q.14 What does formulaic language consists of?

I. Social English
1. Professional English

Ans X" 1 Bothland Il

75 2. onlyll
W 3.0nly!

x 4. Neither I nor Il

[ Question ID : 71939923423

Q.15 ugafarur & fAeror-sfdmm & fag Sara= & wu A fifar @ syt F=faf@a & @ faa var
forar ST 22

|. T=2t d=fAes a1 yaiaroT GrEf=ad sgif=al ufSenre a1 sRaarRl 9 ue Jad 81

II. =2 yafaror & Hefda Rarsi wR o=t srauRon aut gRwivr &t aaxh &= & fog gl dfér
4T Gehd &1

1. vafaror siea | Heifdd 'SRaaR &Y HiET o1 Iugh Tk S g SR ar et
FruffRa i o= r ar Sary= a1 gafaror ereaga § freft RraiRe vy o= visiae g=1 geand &l

Ans 31| eIl &
o 2.1 17
P AR
r A

[ Question ID : 71939923416

Q.16 frfafea & @ i ar v & R d 98 82

1. Tg 3u= greft ahreit @ SfRra auT oruR SasTentet & JHTE 7 ATET T Wellehl hl Yeh hiY U&=
Cooik
II. ag Tk Q9T A1ead g faes areaw @ arfrenisr w1 a1 fRmfor farar sirar @

Ans X1 g I
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Q.17 ISt a1 SR} 1 Shae sk, 9 sha-ursafawd i & dga smar &2
Ans x 1. sfer

25 2. et iR gafeor

X 3. FEx

W 4 R

Question ID : 71939923419

Q.18 Which of the following is a part of Procedural Role?
Ans x 1. To take on a guiding, questioning approach

( 2. To provide opportunities for self direction and choice
x 3. To encourage discussion about learning

X 4. To explicitly demonstrate and model learning strategies

[ Question ID : 71939923430

Q.19 F=faf@a # @ S a1 hyE T R S iR G rga FaR A adi g / 87

|. =3 3 3T UTH o1 TaTaRoT HTAfAes desf 8 e a=ar d@ay wuifie e 81
1. =2 & ST UTH 3 ITATaRUT & {1y WREUR foRaT & A1ens @ Ageygut SifdeTH glar 81
111, gafearor s=aif & Sftaq & S sffem Ramar 81

Ans  of 1 |G
p SRR

p SRR
p AT

Question ID : 71939923415

Q.20 Social - Historical theory of cognitive development is related with which of the following?

I. Piaget
11. Vygotsky

Ans " 1. Bothland Il

X 2. Neither I nor Il

75 3.0nly|
W 4 oniyll

[ Question ID : 71939923411

Section : Discipline5
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Q.2 FfafRa d @ F9 a1 amfSie far f wen F il sifvm-Sfea s & g amaRs
|IYET i SUANT e T Geh SUGTh S&Te<0T 82

Ans X" 1 fRieres arTiores o 3 el TR Uen olten & Tehd & e ager e gl
7< 2. Rieres et st v &1 &Y T & Hed & IR A UeA & g ahg w2l
V' 3. e ot &t aem R fie wia! 3 o A & g ag e 2l
7< 4. e BT @ IS T & Sfeet AR R TRESHTS 3R R & g o Fad

[ Question ID : 71939923436

Q.3 If the data containing few distinct values is arranged in ascending order or descending
order, then that data is known as .

|. Raw data
1l. Arrayed data

Ans  of 1 Only

x 2. Neither I nor Il

75 3.0nlyl

/X 4.Bothland Il

[ Question ID : 71939923441

Q.4 Which of the following techniques can be used to introduce new vocabulary?

I. Guessing from context
1l. Sorting

Ans  of 1 Only |

x 2. Neither I nor I

/5 3.0nlyll

X 4.Bothland Il

Question ID : 71939923431

Q5 APQR and AXYZ are congruent to each other. PQ =10cmand YZ =15 cm. If
area of APQR is 100cm? then what is the area of AXYZ?

Ans

v 1. 100 cm?2
X< 2. 180 cm?

X 3 150 cm?
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X 4 225 cm?

Question ID : 71939923438

Q.6 Which of the following is/are NOT similarity/similarities between social sciences and social
studies?

Ans X 1. Both share a common body of course contents
J 2. Both are concerned with practical aspects of human affairs
X 3. Human relationship is the common denominator in case of both of them

x 4. Both are the outcomes of same genus/parenthesis

[ Question ID : 71939923433

Q.7 ek AT i 12000 FUA o1 <=1 74T &1 Tf A o1 sifdha ger 15000 U 8, af ge ufase faran
g

Ans  of 1 20 vfeE
X 2. 15 ufasra
X 3. 25 e
X 4. 28 vz
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Q.8 fa=T= fAeror & quifenss Sur & arR & RA=faf@a 7 @ &l ai/@ &= adt /8?2

1. fveren feror-sifdem ufthar &t gt avg e war gl
II. 78 Qo fraeTenes S & STgt s1eaTaeh STl ol SUgeh IaTevul 3 Sipd arift ot fasifea
et &l

Ans  of 1 |G
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X 3a@iaan
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Q.9 ferer ‘weptar srearg # 'ufafde & fAraw' hY sarear ==r argar @1 39 ugle= & fog e d
frerer g1 fafof@a & @ it siftvm nfafafat d=nfera &Y s gendt &2

. SfchatE UR 3R TG T Yeh ATE USRI &3 3R et &
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[ Question ID : 71939923448

Q.10 =TagiRRes & ol Ta@ g9t I & fAg, s fAeres o ffafaf@a § @ o @ A glan
a1 | @ Tfge?

1. el ggfaror
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[ Question ID : 71939923446

Q.11 31T T ag AT Sit AWk GHIHRUT Y Teh T HUA FATAT &, IQ THIHRUT 1 g1 a1 Tftehror
@I _____ <hgl ST &l

Ans  of 1 Tw
X 255w
X 3. agm
75 4. ge e

[ Question ID : 71939923442

Q.12 gterfores fa=auor o fAram =Ror A fA=fafaa & @ = @ afafafa snfas &2
Ans X" 1. il & U Y UEEH e

X 2. siftemm & oo @ gard gy

25 3 R
W 4. 3Fa ot & aRoTe Y Sueee i st 3 3 g SuaRorE Aufkor

Question ID : 71939923447

Q.13 frgror-aiftem ufthar & s A @lst Iurm & vges R & T d i a1/d = a8 8/82

1. geft @t faf a1 Su d=rfent gt R strar 81
1. BT = fa= verd aua e AR @t ugfa o Suatt &=d &1

Ans X" 1 e |
S GIE Eill
W 3 1@
25 4 FaEl

[ Question ID : 71939923445

Q.14 Which of the following can be an effective teaching - learning strategy while teaching
history to the learners?

Ans J 1. Teaching Quit India Movement through story telling
x 2. Teaching Revolt of 1857 by providing all facts and figures about it to the learner
X 3. Giving lengthy assignment to the learners on various topics of Indian History

x 4. Asking the students to memorize the chronology of important events in History

[ Question ID : 71939923434

Q.15 f=fafaa d@ @ famm= i fra PRreror Y J, A, fAed aur Rigia o= # veE e o4 &
ayT iR 32 Rty IergRon i Hee @ Ganfta A & g @gr sirar 82
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[ Question ID : 71939923443

Q.16 Which of the following is true about integrated education?

I. Learning problems are considered to be due to defect in the student
11. No change in existing mainstream environment

Ans &1 only I

x 2. Neither I nor Il

/X 3.0nlyl

o 4. Bothland I

[ Question ID : 71939923449

Q.17 fA=faf@a d @ o 91 Fu= amfois AT A fvm greq & S u A Sugeal d aga Far d
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1. Tugrerg, B &t Wawt & fg g 320 T1ed & w9 # R e Jehe 81
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Q.18 Ffaf@a & @ i a1 et & gafrem & S-A-S sfwdla daR A wd @2
Ans X" 1. af geh Pt ol ohuf duT Ueh YoTT &R BIsT & shus: sl quT Frd yyor & Fafrem g, dt
ST THeRioT gt Tafmam &
25 2. af gen Prget Y i eI R Brogst oY it wgetraf & gafem € ot @it Aot wafram &
X 3. 3 g BT & ot aor ga BT & Trd shion & afrae § qum 3 s afdferd qeig
gafmem g, @ S Biyer gafmem §
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i Fafram g, at S et gaimed &

[ Question ID : 71939923440

Q.19 Which of the following is/are traditional approach/approaches adopted by social scientists
in understanding political science?

1. More philosophical in nature.
11. Insist on quantitative and inductive approach. Aim at making politics a scientific body of
knowledge.
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11l. Concentrates on formal apparatus of politics : government, institutions, constitutions
etc.

Ans " 1 Bothland Il
25 2.Bothlland Il
o 3.Both land II

25 4.0, 1and i
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Question ID : 71939923435

Q.20 Which of the following is true about traditional assessment?

|. Based on medical model
1l. Procedures are inoculated to curriculum

Ans o 1 Bothland Il
X 2. Neither I nor Il
75 3. 0nlyll
X 4.0nlyl
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